dEC / THIAT / THESE / THOSE

1) CHOOSE THE CORRECT DEMONSTRATIVE PRONOUN
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IS MY CAR

IS A BIKE
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ARE HIS PENCILS

IS A MOUSE
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ARE MY BOOKS
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ARE YOUR SHOES

ARE APPLES

IS MY CAT
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POSSESSIVE ADJECTIVES

1) CHOOSE THE CORRECT
OPTION

a) She is happy with new job.
b) Peter is showing house to
Susan.
c) | have a dog. name is Toby.
d) You are a boy and name is
Mare.
e) | live in Paris with family.
f) My father is driving new car.
g) Hello! What is name?
h) We live in a house. house is
big.
i) They like sports. favourite

sport is hockey.

j) We go to school wearing
uniforms.

k) The boy plays tennis. This is
tennis racket.

1) We will miss train to France.
m) The cat is playing with tail.

n) Emma has got a brother.
name is Paul.

2) TYPE THE CORRECT
ANSWER

a) Doyou like ____ new car? (we)
b) Have you got ___ passport? (you)
c) Have you met __ teacher? (they)
d) He forgot ___ car keys. (he)
e)ldon’tlike ____ teacher. (l)
f)llike _____ sweater. (you)
g) | have got __ mobile phone. (he)
h) She gave the reportto ____ boss.
(she)
i) There is something wrong with
car. (we)
j) These are _____ parents. (l)

k) They are having a party in
garden. (they)

[) Where is pencil? (he)
m) Who has got money?

n) The rabbit is white. cageisin
the garden. (it)
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THERE IS / THERE ARE

1) TRUE OR FALSE?

a) There is some milk.
b) There is not any butter.

c) There aren’t any oranges.

d) There isn't any coke.

e) There are some tomatoes.

2) CHOOSE THE CORRECT ANSWER

any ham.

bananas.

any eggs.

an apple.

any cheese.

hamburgers.
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